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3T 60 T 80 Irsg] 7 ford S =wifsw |

$7 J97-97 7 6 TY-FHIT FFR-II & 97 & | JA%F Fo7 4 3h] F1 & | 37 J97] &
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T 47 ] SIRIerT 1At
90%) | S (10%)
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(A) 2000, 1620, 20000, 18000 (B) 1800, 180, 2000, 18000
(C) 1620, 180, 2000, 18000 (D) 1800, 1620, 20000, 18000
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.
In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.
There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.
SECTION A

Macro Economics

In order to discourage any fall in Aggregate Demand, the Government of

India may the .
(Choose the correct alternative to fill in the blanks) 1
(A) decrease, repo rate (B) increase, reverse repo rate
(C) decrease, government expenditure (D) decrease, tax rate
Choose the correct alternative to complete the given schedule : 1
Round Deposits Loans Reserve Ratio
(90%) (10%)
I 2000 1800 200
I1 (1) .G 180
Total .W(1d) . (V) ... 2000
Alternatives :
(A) 2000, 1620, 20000, 18000 (B) 1800, 180, 2000, 18000
(C) 1620, 180, 2000, 18000 (D) 1800, 1620, 20000, 18000
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3. i I # fgu U e @ i 11 § U MU Fafed Segi o a1 Tgt I hi
g hINT :

it 1 HicTH 11

1. | facen @ forelt Tsg o Ufva gmfs (1) | g e

2. | focsh goreti & gobrect Isg T g 6 | (i) | eraeeH
qod | Sl shi ThR i ifd

3. | Toret Tsg o v Tafd 9 oo s o6 | (i) | T dgee
AL 3T

4. |facsh gz X fgifa @ § @R &1 | (v) | 599 fafw g o
THAT TEHRR

forepeg

A 1-03) (B) 2 — (i)

(C) 38— (iii) D) 4 —>Gv)

4. TmAfafea sl o1 SIgds afeu

FI71: A H lEdd (AY) & G99 § 399 ¥ giedd (AC) I fom et &
SHIUT ITHNT sk Teh Eieh 1@T BT @ |

HIT2: IUAN 9 I o T UNEdA ohl HHG & I A& U9 T
(APC) % &9 & qieTioe foram mam 2 |

feu U seAt & Ittt ®, F=feiRaa # @ @& faeew &1 w=m Sl

(A)  HIF 19T 8 3 HIF 2 36 2 |

(B) HIT 13ITTZ I HIT2HT 2 |
(C) YT 13N 2T T B |
(D) HIT 13X 22T 3T B |
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3. Identify the correct pair of statements given in Column I with the related
terms in Column II : 1

Column I Column I1

1. | Remittances from abroad to the nation | (i) | Accommodating
Transaction

2. | Government’s policy of decreasing the (ii) | Devaluation
value of the nation’s currency against
foreign currencies

3. | Difference between visible exports and | (iii) | Balance of Payments
visible imports of a nation

4. | Government as sole authority of (iv) | Flexible Exchange
determining foreign exchange rates Rate System
Alternatives :
A 1-3) B) 2 (i)
(C) 33— (i) (D) 4-(@Gv)
4, Read the following statements carefully : 1

Statement 1: Constant rate of change of consumption (AC) with respect
to change in income (AY), is the reason for the straight
line consumption curve.

Statement 2 : Marginal rate of change between consumption and income
is defined as Average Propensity to Consume (APC).

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

13-58/3/3 P.T.O.



5. TAfRad oAl ®l 9iey @ AHHeH (A) 3R FRU (R) | = CT Y forehedi H
o Tgt fashed 1 =9F HINT
STHIT (A) : Tldhdd AR TqeH ! feafa ®, Tk Usg &1 <Te] @IaT ARy
H g gohdl 7 |

HRU(R):  Tordll Tsg 1 Traa o1gwa wifcaal, Faw go Wit & 1feres &
ehdl & |

faeney

(A) R (A) 3T RO (R) HI I & M A0 (R), AR (A) I
g ST LAl = |

(B) AR (A) IR HROT (R) AT T &, Wiehd IO (R), AMHAT (A)
<) T AT TFT HaT B |

(C) 3P (A) T 7, Wlhd RO (R) 6 3 |

(D) AR (A) 3T 8, Afhd SR (R) T 7 |

6. fIfafaga oAl o ufeu ; sIfirem (A) 3 R (R) | = feu o foshewl #

4 "t faeey w1 ==[ HifSu .

1Y (A) : Tfos® €4 8 SUSAR & T&W =ARE 8d 8, S J=fad wegl &
W H HE h FTFh T4l B |

FRU(R): TG U TR TR W FAfeeh SIS 37 &t 2 |

IEET2 I

(A)  AMHAT (A) 3 FHROT (R) T T & 3 SR (R), TR (A) I
gl ST KLl = |

(B) 3T (A) W SR (R) SAT TcF 8, Afehd IO (R), JMHAT (A)
<1 gl AT FFT Hdl 2§ |

(C) IR (A) T 3, Wfhd RO (R) I8 3 |
(D) AR (A) 3T 8, Afhd SR (R) T 7 |
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5. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below : 1

Assertion (A) : In case of an unfavourable Balance of Trade, the Current

Account of the nation may be in surplus.

Reason (R): Net invisible receipts of a nation can exceed the Net

visible receipts.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

6. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : Voluntarily unemployed people are those able bodied
people who are not willing to work at the prevailing wage
rate.

Reason (R): There exists zero involuntary unemployment at full
employment level of equilibrium.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13-58/3/3 P.T.O.



7.  UgAIHu foh U stefeaewen & "ey u fefafga 4 @ H-ar a1 sraer 2 | 1
(A) Fhd T UG (GNP) i Tl B 391G (GDP) W ATe=hal 9a

2 |
(B) Hhd Wl 391G (GDP) i ot T 391G (GNP) T ATeshal TH
7 |
(C) Uhd TN 3G (GNP) G Hohed el 379G (GDP) H Il €99d
3 |
(D) ¥Hhd U™ 3@E (GNP) T Thal =q 3cd1g (GDP) &1 I dcd
I (0) % SIS BT 2 |
8.  Torell srefeyawen ¥ ThHifdehRl TaUad a9 IUEAd BT 8, 91§ g0 TSR &R W

B | (i =oM% T gt faerew &1 =em Shifs) 1
(A) Il THY T > GYTferd |0y T
(B) dTildeh THY T < GWTfed THY HIT
(C) aTEdferes HY HIT < GTferd 0T |
(D) drldeh THY T = QTG Tuy |7

9. 19 WS, 2023 I TR AR 51d s (RBI) o HIEIhIT T o TTHN :
“qTed 1 forgelt g1 Wer (STRIA) IR o) |wdte 4 JlgHH g7 2 a1 I8
$ 600 IS o FIATA TR % Hd Ugd M1 3 |

3T el Rd & YaE gqed @ o Lt
HIf | (T=F Tl o Y o foiw @&l foehew o1 =@ hifSw) 1
(A) s, Ihg (B) shfge, Sl
() sfwe, = (D) sfe, 3fg
10. f=fifad sl &1 emgEs ufeu : 1

Fo71: AN U 9 gr@ fmio gfshan # skomcnes (SIohH) T9Y BT & |

FI72: Tordt rdcgaea 1 H<¥ s TRg U Ufskam & =0 &
HEwaqul i LT 7 |

feu U el & A °, Efaiad # 8 wEl faeed o1 =H hifvie

(A) Y 1T 8 N I 2 370 2 |

(B) HIT 1ATIAEIM P 2T 2B |

(C) YT 13 2gHI TcF 7 |

(D) YT 13K 2T FFH B |
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10.

13-58/3/3 P.T.O.

Identify which of the following statements is incorrect with reference to

an economy.

(A) Excess of Gross National Product (GNP) over Gross Domestic
Product (GDP) is possible.

(B) Excess of Gross Domestic Product (GDP) over Gross National
Product (GNP) is possible.

(C) Equality between Gross National Product (GNP) and Gross
Domestic Product (GDP) is possible.

(D)  Sum of Gross National Product (GNP) and Gross Domestic Product
(GDP) is always equal to zero (0).

Inflationary gap in an economy may exist when at full
employment level. (Choose the correct alternative to fill in the blank)

(A)  Actual Aggregate Demand > Potential Aggregate Demand
(B)  Actual Aggregate Demand < Potential Aggregate Demand
(C)  Actual Aggregate Demand < Potential Aggregate Demand
(D)  Actual Aggregate Demand = Potential Aggregate Demand

According to the Reserve Bank of India’s (RBI’s) Statistical Supplement
released on 19th May, 2023 :

“India’s foreign exchange reserves grew for the third straight week and
reached near an approximate level of $ 600 billion.”

The above situation will the side of Balance of
Payments account of India.

(Choose the correct alternative to fill in the blanks)
(A) Increase, Credit (B)  Decrease, Credit
(C) Decrease, Debit (D) Increase, Debit

Read the following statements carefully :

Statement 1: Reserve ratio and Credit creation process are inversely
related.

Statement 2 : Central Bank of an economy performs the vital function of
controlling the credit creation process.

In light of the given statements, choose the correct alternative from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.



11. (%) TuwTm AiheSi & MR W, T 3 o oI 1 ATha HIT

. . 7
7 il (= 75 7)
(i) THR AfqT IuuT == 110
(ii) Fsft eAfam I == 200
(iii) | Tha =9 feor gt fmfo 30
(iv) | Hew fia (-) 40
(v) i | g 20
(vi) | Tl Sl S 394 15
(vii) | 79I T 60
(viii) | 39qH 15
(ix) | faesn & s 3g R (=) 40
3rrat
(@) wou afda fafy g Tsd o1 1 HH & 98T &I & S aret
forrgl o graenf= w1 oo HIfT |

12. el Tsg bt Toreft {gT <kl 6T I Tc9& €9 & TG S a1t Tohral G I
! foer=rm HIT |

13. (%) U Hloueh Adawd & fole, TWHR T 5,000 FHUs 1 Al Faw
= Al 7 | I8 WA g¢ foh dHIG s=a g (MPS) 39 20% o
JaAH TR G Meft F T @, HHE s=9d g (MPS) § 39 fiEe %
R T | qREd T TTHH sy |

(@) w@rm few & 3 faReau |

14. et fg-gmaen Sreleuaeen # Wy qfd o & Ucehi shi TR & SRS it |

15. (%) “urd fod §% (RBI) g1 ©d SR H <M _(Open market
%peratlons) srefeaee W Hgl aMqfd & faf@f| ®@ § ggmar #
|”
o= ekt dfgd fgu T sheM =t fag hifsre |

HAAAT
(@) fordt Tse & Fgi dh & ‘Sl o S HE i faEdR & ren FIfV |
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11. (a) On the basis of the given data, estimate the value of National

Income : 3
Amount
S. No. Items .
(in T crore)
i) Government Final Consumption Expenditure 110
(i1) Private Final Consumption Expenditure 200
(iii) Gross Domestic Fixed Capital Formation 30
(iv) Net Exports (=) 40
(v) Increase in Stock 20
(vi) Consumption of Fixed Capital 15
(vii) Indirect Taxes 60
(viii) | Subsidies 15
(ix) Net Factor Income from Abroad (—) 40
OR
(b)  State any three precautions to be taken while estimating national
income by Value Added method. 3

12. Discuss any two factors which directly affect the demand for foreign

exchange of a nation. 3

13. (a) For a hypothetical economy, the government incurs an additional
investment expenditure of ¥ 5,000 crore. Assuming that the

Marginal Propensity to Save (MPS) becomes half from its present
level of 20%, estimate the change in income due to this fall in
Marginal Propensity to Save (MPS). 3

(b)  State the meaning of autonomous investment. 1

14. Elaborate the two components of Aggregate Supply in a
two-sector economy. 4

15. (a) “Open market operations by Reserve Bank of India (RBI) help in
regulating money supply in the economy.”

Justify the given statement with valid arguments. 4
OR
(b) Elaborate the “Bankers’ Bank” function of the Central Bank of a
nation. 4

13-58/3/3 Page 11 P.T.O.



16. (&%) (@)

(i1)

(@) @)

(ii)

Tk fo-aoer srdegesy § 3™ % whig YAE hl TGURun
ST hINT |

“Topet SrefeaaEen # dohal WS 3cA1G (GDP) 9 &l Hed afdd
(GVA) T I Ted sUsL ald 3 |7
A=Y dehl Higd feU T o @l fag hifvu |

AT

“Od W 3G (GDP) daFhifaeh adfas GDP @ Hifgsh
GDP % 3TUTd gRI I S & |7

FIT A9 feU U HI4 9 TgHd 8 ? Teh HlcUf-eh G&ATcHS ICTaLU]
T AT Tohl g 7T I <hl gfse HifrT |

‘et 9 ITfHar § 3T T 37 oqisT |

17. (%) @ TS A1 o MYUR W, FAIRgd & qeai shi TUET HIfT

(i)  TSThINE =eT
Gi)  wmafHes =mer
#.4. ored T
(¢ #U3 7)
(i) gSiTa = 60
Gi) | Tt wfeast 50
(i) | o =meT 55
(iv) ST YA 20
(v) | TR g9 S ItdEl | e siiedd
T 50%

(@) drEsH® Tt & fohegl gl IS HT Seoig HITT |

()  ‘GrEsie IEYH d Fdsie 3ded § 3Tal T HIFT |
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16. (a)

(b)

17. (a)

(b)
(c)

13-58/3/3

1)

(ii)

(1)

(i1)

Explain the concept of circular flow of income in a two-sector
economy.

“Gross Domestic Product (GDP) and sum of Gross Value
Added (GVA) in an economy are always equal.”

Justify the given statement with valid arguments.

OR

“Gross Domestic Product (GDP) Deflator is represented by the

ratio of Real GDP and Nominal GDP.”
Do you agree with the given statement ? Justify your answer
with valid arguments and a hypothetical numerical example.

State the meaning of ‘Income from Property and

Entrepreneurship’.

On the basis of the given information, calculate the values of the

following :
(i)  Fiscal Deficit
(i1) Primary Deficit
Amount
S. No. Items (in % crores)
(i) Capital Expenditure 60
(i1) Revenue Receipts 50
(iii) | Revenue Deficit 55
(iv) Interest Payments 20
(v) Non-Debt Creating Capital 50% of Revenue
Receipts Receipts

State any two examples of public goods.

Distinguish between ‘Public Provision’ and ‘Public Production’.

Page 13
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18.

19.

20.

21.

G LCEC)
TR arTieer fererma

fafafga et =1 gfeu  aAfiepem (A) 3 s (R) | = few u foemedt |

T Tgl faehey 1 =34 i

STYHIT (A) : ARG TR g 8 TR, 2016 i I d a1 L (GST) T
fepar T o |

HRUT(R):  GST WRA H Thihd MIIH HL JUMEH I AR HH o 0T
ST TR AT |

fereped

(A)  AMHAT (A) 3 HROT (R) T T & 3 SR (R), TR (A)
g ST HLdl = |

(B) AR (A) 3R HROT (R) SHT T &, Wohd Il (R), HHAT (A)
) TE =T FFT HaT § |

(C) IR (A) T 3, AT hRUT (R) I8 3 |
(D) AR (A) 3T 8, Afhd SR (R) T 7 |

gt fop frefafaa @ & =M G20 #1 g T 737 # |

(A) IS (B)  regfern
(C) wni| (D)  SETe
T fafsme wad & e faft yor fi w1 I ED
fafaeferor swgemar 2 |
(feh Tam 9 & forw Tt foepew o1 =@ Fifse)
A) & SaE™ (B)  TSHIR ET=H]
(C) wHal (D) s edqred
qge-T for Feafafgd § @ si9-91 a9 foe™ Tehdss (HDI) 77 2 |
(A) 9 % GUF Sfad Temem (B) o¥Fh 1Al
(C) HIg Hcg (D)  SRISATR
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18.

19.

20.

21.

SECTION B

Indian Economic Development

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative given below : 1

Assertion (A) : Goods and Services Tax (GST) was implemented by the

Government of India on 8t! November, 2016.

Reason (R): GST was introduced to implement a unified indirect tax
system in India.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

Identify which of the following is not a member nation of G20. 1
(A) Argentina (B) Australia
(C) Brazil (D) Bangladesh

Production of varied forms of crops against one specialised crop is called
diversification of

(Choose the correct alternative to fill in the blank) 1
(A)  sectoral occupation (B) employment structure

(C)  crops (D)  industrial production

Identify which of the following is not a Human Development Indicator

(HDD). 1
(A) Life Expectancy at Birth (B)  Adult Literacy Rate
(C) Maternal Mortality Rate (D)  Unemployment

13-58/3/3 Page 15 P.T.O.



22, fm=fcifea el 1 SIHydes i 1
FY71: WHd fIwm@ 38 fT=R w snumia g for fen 9 W aFe e
% A= T E |
H972: WA Ysit WG I Tl T1ET h1 T 1 HIEH AT 3 |
feu U oAt & Itenes |, F=feiRaa # @ @& famew o1 w=w Sl
(A) HIT 1T 8 3N HAF 2 3T 2 |
(B) T 13ITT 8 M FAT 2T B |
(C) AT 13M 2N T3 |
(D) oM 1 3R 2 gH 3T 7 |

23. = fou MU SAfhsi W YR W, Hehel =X 3cA1G (GDP) i aTfves Jig (%)

ey H ey e i UgAH HINT 1
Hehel TWe] IedTe | i gig (%), 1980 - 2017
29 1980-90 | 2015-2017
I 5-7 7-3
=H 10-3 6-8
ITfeREdT 6-3 5-3
ey -
(A) g:;qm T = A 2015 2017 & A faem @ # fimEe 1 3gva
o |

(B) =M 9 1980 — 1990 H 2rgt 37ehl <l Taehr@ et gridret <hl off |
() 2015—201761%3431%1&%#Gppaﬁnammﬁéaﬁméa%|
(D) 1980 — 2017 % A GDP % HHc § YIfehed™ W & 371 T |

24, Fafafiga sl = ufeq @ Ifiepe (A) R wrur (R) | = feu mu foepedi o
4 ggl foeres =1 ==[ Fhifv . 1
315w (A) : Toles oA o A HiY &7 &I ®9 § WRA o &A1 [ohE 6
TR AT |
FRU(R):  Fie H UM & faep™ o Tou, foifewr smeesh IRd $iv 3eaig 1
Afereray A9 ISHT ITEd ¥ |
IEETg

(A) AMHYT (A) R SR (R) AT T 8 W R (R), ATHAT (A) Hl
el AT LT 2 |

(B) 3 (A) 3T RO (R) I T 7, AAfhd RO (R), INThRAT (A)
<1 gl AT FET T @ |

(C) ANYHAT (A) FcT B, Afhd ST (R) 38 7 |

(D)  AfheA (A) 3FE 8, Afhd SR (R) T 7 |
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22,

23.

24.

Read the following statements carefully : 1
Statement 1 : Human development is based on the idea that education
and health are integral to human well-being.
Statement 2 : Human capital treats humans as a means to an end.
In light of the given statements, choose the correct alternative from the
following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

On the basis of the data given below, identify the incorrect statement
with reference to annual growth of GDP (%) : 1

Annual Growth of Gross Domestic Product (%), 1980 - 2017

Country 1980 -90 | 2015 -2017

India 5-7 7-3
China 10-3 6-8
Pakistan 6-3 5-3

Alternatives :

(A) Pakistan and China experienced a fall in growth rate during
2015 - 2017.

(B)  China achieved double-digit growth rate in 1980 — 1990.

(C)  GDP of India accelerated moderately in 2015 — 2017 period.
(D) Pakistan was ahead of India during 1980 — 2017 in terms of GDP.

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : The agricultural sector under the British rule was
primarily the base of the sectoral growth of India.

Reason (R): British rulers wanted to take maximum advantage of the
Indian agricultural output, for growth of industries in
England.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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25.

26.

ygene for = stelegeen & de # f=fafaa # 9 198 ooy w8 787
a:

(1) 1958 H, HELAT hl TATAT g5 o |

(i) focuht &= o, fomiy omféfe & (Special Economic Zones) T1fyd g4 9 |
(i) SER T Gadrsti 4 = § gog o H i Hl o |

IEET

A) () 3R Gi)

(B) (i) 3T (iii)
©) (), (i) 3R (iii)
D) (1) AT (i)

et o & siH-a1/8 Hafid N I9R H1 38 787 2/3 ?
(i)  FHhI o T foque o TS < § GIR i o 7T gdicanzd e |

(ii) PUhI I ITh IATGl 1 AW Hed fgad & o fauom yomeft =i
A F JHTET ST |

(iii) TRl I ITehl TS hi AEAT T TUEAT H IR i o ¢ galcarisd

T |
ICET
(A) (1) 3R (i)

(B) (i) 3 (iii)
(C) hdd (i)
(D)  Had (i)
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25.

26.
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Identify which of the following alternatives are not true with reference to

the Chinese economy :

(1) In 1958, communes were established.

(ii))  In the foreign sector, Special Economic Zones (SEZ) were set up.
(iii)  Better health facilities reduced mortality rate in China.
Alternatives :

(A) (1) and (ii)

(B) (i) and (iii)

(C) (), (i1) and (ii1)

(D) (1) and (iii)

Which of the following is/are not an objective of regulated agricultural

market ?
(1) To discourage improvement of marketing infrastructure for
farmers.

(ii)) To make marketing systems efficient and effective for farmers to
get best price for their products.

(iii) To discourage farmers to improve the quantity and quality of their
produce.

Alternatives :
(A) (1) and (iii)
(B)  (i1) and (iii)
(C) (@) only
(D) (i1) only



27. fm=fafea sl o1 SHyEs afey

HY71: SN &F T GHEAT Dl Wealsd HH & forw gy i ifusman =i
Faior geeert fifaa 9 9 e fifq off |

HYT2: T IUTA AT T Y _GUW o INOTHETET THIGRT T T I
HEEIEIN

feu T et & Il H, EfiRad § @ w@t ke 1 weH il

(A) e 19T 8 3 HH 2 30 8 |
(B) U 130T g N FI 2T 2 |
(C) U 1323 T 7 |

(D) e 1 3R 2 gHT 30T § |

28. “uma #, Tsd fwren fifa 2020 T rereni & TEThIei IO W SAATIE FA
fenmng 1”7
() 39 ®eF H 3FE AHa S i (HCF) & @i hl 98= i |
(i) YA ok 3Tk faeshm®@ W 30 FId o HHIad IHTET <l foedr ¥ samen
HIT |

29. (%) 1950—1990 i A & TNH WRAT A=heh & i fhral af T&
foriwanatt 6t ==t HifSu |

HAAAT

(@) 1995 T fava =AMR T (WTO) ht Lo & fohegl g el ol v
T |
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27. Read the following statements carefully : 1

Statement 1: Land ceiling was one of the Government policies to

promote equity in the agriculture sector.

Statement 2 : Land reforms resulted in abolition of the Zamindari

system in the post independence period.

In light of the given statements, choose the correct alternative from the

following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

28. “In India, National Education Policy 2020 has stressed a lot on in-service
training of the teachers.”

) Identify the source of Human Capital Formation (HCF) indicated
in the aforesaid statement. 1

(ii)  Elaborate the likely impacts of this source on the economic
development of India. 2

29. (a) Discuss any two salient features of Indian industrial sector during

the period of 1950 — 1990. 3

OR

(b) Describe any two purposes for the founding of World Trade
Organisation (WTO) in 1995. 3
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30. Teu Tu Afhei W, "ha Yod afd (GVA) § WA 9 =4 @ &6fid AneH i
a1 9 fageivor i |
2018 - 2019 T TTR TS Hehet o ATehd (%) o & IR
gHT go T FlElT T TGTT PIISTT BT [T
" YRd T | wbead | YRd T4 | g
HiY 16 7 24 43 26 41
M 30 41 19 25 28 24
LEll 54 52 57 32 46 35
RIn| 100 100 100 100 100 100

31. feu wu fo 1 saHgE® ITeEH HINT

oo 4 cwiis 78 ufifeufa < gg=m hifu denm vyrd steferesen W Hehfda
fefa = gura =1 germa i |

i : HHlIEd 397 #aci gRaraa ahentdal 177 397 G971 31 & €9 R & |
“ITE &5k o SO, AT &5k H TSR 1 goiF 3Teas 3 |7 fou

T YA h gfee KT |
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From the given data, compare and analyse India and China’s sectoral

13-58/3/3

Page 23

contribution towards Gross Value Added (GVA).
Sectoral Share of Employment and GVA (%) in 2018 - 2019
Contribution to GVA Distribution of Workforce
Sector
India China | Pakistan | India China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100
Study the given image carefully :
Identify the situation depicted in the image and suggest the impact of the
indicated situation in the Indian economy. 4
Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 31.
“It is necessary to generate employment in the formal sector rather than
in the informal sector.” Justify the given statement. 4

P.T.O.



32. ()
(@)
33. (h)
(@)
13-58/3/3

3 Tohl ¢RI Iocild d AT shitoT for FfiRad oM e 8 o 3797

(1)

(i1)

1)

(i1)

(1)

(ii)

1)

(i1)

A H, ARd TR 4 foaxiis d@reqi o $Huead fEed & fag
SH-gF AT S 8 TETIYUl heH IITT 7 |
I WRA H RO I9@eHd] H TghR AH{GAl Hgw@qol fHeR
Tt 8 |

AAAT
e — TTEEAT AT ! IRYTNYG hITT qem 3geht ITNrar i
Ui HIT |
“Teod SUSTTHT ohT 379 SqTsy |

“Taqedr I i AT T ARG i A =R AT (inward
looking trade policy) o fafirg 2w o Wftws faue gm

a1 wme fean ma e |7

1 7 fGU 7T oM § gud § ? 99 qohl g 3T IR ol fse
s

T ifa @ ordfe &3 & 3IUsHAl (PSU) & W@, YR
i JIcaTad i d foI=emT 1 ST o H g1 g5 8 |7

0T TSIl & A1 fou U e o1 3iifacy farg dhifse |

AAAT

“G Tk % q T8 B B — PV IUGH W Fgd off THT & Th
3chte 3T 7 17

HY IugH I WA F w9 fque 7 <-gr qot afed T T wem
i gfee i |

“EIS g R I WA 3R ferea & = gt & w9 ° R
Sar ot |7

A= deht g0 feu U sheq <kl fag hifvie |




32. (a)

(b)

33. (a)

(b)

13-58/3/3

State and elaborate whether the following statements are true or

false, with valid arguments :

i) In the recent past, the Government of India has taken crucial
steps, like Jan-Dhan Yojana, for efficient allocation of

financial resources. 2

(i1)  Cooperatives play a vital role in the credit availability in rural

India. 2
OR

(1) Define worker — population ratio and describe its usefulness. 3

(i1)  State the meaning of ‘Disguised Unemployment’. 1

(1) “India’s inward looking trade policy during the post
independence period was well supported by various tariff and

non-tariff barriers.”

Do you agree with the given statement ? Justify your answer

with valid arguments. 3

(i1))  “Navratna policy has facilitated the maintenance, promotion
and disinvestment of Public Sector Undertakings (PSUs).”

Justify the given statement with valid explanation. 3

OR

(i)  “Every coin has two sides — debate over farm subsidies is one
such a classic example of the same.”
Justify the given statement with two arguments each in

favour of and against the continuation of the farm subsidies. 3

(ii)) “Suez Canal was used as a highway between India and

Britain.”

Justify the given statement with valid arguments. 3
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34.

freaffaa mr # erEgEes afen

guhIce fovd H @l wqd foehE i oot 9gd |l fodid @, g forepr@ qen

3G I 3cdsH UHT 3 HEwaqUl TTERUMY g fSeh! WAk T Teh a1 F=il <hl

STt 2 | A 2 IFERene gedt o wfasy o forw sifagaefia 8, w®ife 3 w

Th 1A h1H hish, 8 39 ToIU qu7 314 arell difedi o fw we s1feres Tomht

wiersa =1 fHToT o Hehal 2 |

g fohra 39 oTfdfe e =t HgiHa T 8“1 waiawolia ywE & A HE

% all ° T foham M 7,7 afeh, “S[g Y Scdei HHgRed Wi %

qHISTG 3cas d aiYHSd | UH IcdsH ol 82 o did Hga T hid hl

feafa g 1”7

THIl STTURMAT o o= Th HSled 9994 HISG &

(1) A faem dfiAgRa 19 IESH &I & & § G886 &, S qg T3
3T ITed i o fTU 3TTe9de B |

(2) B foem Tl Scag = ° 9 o1iddes faeem™ =i gicared & |
TR 7, Sl ¢ o I g I Icdod Trenfirehl # FHaer i i
TrEEd S | 98RdT S Fehdl & |

T USE § G hIEhi ol Th A9 Jlg o 6 TTY 95d $ H ehell B, 99
(%) iRl et ardr § Few, S FEEa A\ &1 3creT T8 wd 8 |

(@) 1 HIA TN hl GMT S8 FHATH R 3T TH ITHWT S FHoll bl
@Ud ! HH H T HEG L Hehd & |

() uftgg Fi Aeal ° afgdd S Uga I, AEfhd ST 9 TS
e 1 ITANT HEAT, FAifh T I B o [TY FAT-Hle Icasi Tl
alle 8 |

feu U T 9 T I % enuR R, Feffed g % sw S

(1) gid for 9 3 I 3cEs 1 31 Farsy |

(i) BRa fam 3R Ig Y 3cas o o9 Taddy W gag § == HI |

(iii) IG I IcFsA Bl ATcdTigd HE Tt REt Toh ek ol HIGTE T
HIfT |
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34.

Read the following text carefully :

In the contemporary world with a lot of sustainable development
concerns, green growth and net zero emissions are two important
concepts which are generally discussed together. These two concepts are
essential for the future of the Earth, as by working together on them we
can create a more sustainable future for ourselves and for the

generations to come.

Green growth refers to, “the economic growth that is achieved in a way
that minimizes environmental impact,” whereas, “net zero emission is the
state of achieving balance between anthropogenic emission of greenhouse
gases and removal of such emissions from the atmosphere.”

There exists a robust connection between the two concepts :

(1) Green growth can help to reduce greenhouse gas emissions, which
is essential for achieving net zero emissions.

(2) Green growth can help to create jobs and boost economic growth,
which can help to make it more affordable for countries to invest in

net zero emissions technology.
A nation can do a lot to promote these two factors together, like :

(a) Investing in renewable energy sources which do not produce
greenhouse gases.

(b) Adopting energy efficient measures, such as insulation and other
such appliances which can help to reduce energy consumption.

(c) Altering transportation habits, like adopting walking, biking and
using public transportation as they are lower-carbon ways to travel.

On the basis of the given text and common understanding, answer the
following questions :

(i)  State the meaning of green growth and net zero emissions.

(i1) Discuss briefly the interconnection between green growth and net

Zero emissions.

(iii) Illustrate any one factor to promote net zero emission.
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